ELEC 105
Fundamentals of Electrical Engineering
Spring 2010
Homework Assignment #1 – due in class Wednesday, Feb. 3, 2010
Problems 1.26, 1.29, 1.37, 1.39, 1.43, 1.44, 1.58, 1.63, and 1.65 in the textbook, plus the following additional problem:

1. PPL’s (the local power utility) Montour power plant in Washingtonville, PA can produce up to 1552 MW from its two large generators and one small auxiliary unit.  If the cost of electricity is $0.10/kWh, what is the maximum revenue that the Montour plant could generate (no pun intended) in a normal year (not a leap year) if it were to operate 24 hours per day at full capacity?  (By the way, you can often see the condensed water vapor rising from the plant’s cooling towers if you look out to the horizon from Dana 303.)
Notes and Hints:

You will probably notice that not all of the problems assigned in the homework sets for this course relate directly to material covered in class.  You will need to come up with your own solution techniques for some of the problems.  There are two reasons for this.  One is that there is simply not enough class time to cover in detail every type of problem you are likely to encounter, but the main reason is that you will learn more if you take the material covered in class and try to apply it to new and different types of problems.  That is, it’s healthy to stretch your mind as well as your muscles every now and then.
You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of your solutions to all problems; you will not receive credit if you do not show your work.

Prob. 1.26:  The voltage of 120 V is actually an AC (alternating current) voltage, not DC (direct current), but you can apply the power formula we discussed in class anyway in this case.

Probs. 1.65:  The problem is asking you what Ix has to be in order to cause 15 V to appear across the 5- resistor in Fig. P1.65.










PAGE  

